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QUIZ MASTER

Grand Quiz(CS605)

100% correct solution.
For more information you can visit my channel and for
any type of help related to CS619 you can contact me.

YOUTUBE CHANNEL:
https://www.youtube.com/channel /UCINsFwDiB62SValCcPDZbRQ/playlists

FACEBOOK GROUP:
https://www.facebook.com/groups/923887914750307
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C5605:Grand Quiz

Question # 1 of 30 { Start time: 07:50:19 AM, 28 December 2|
Defects per function points is a

Select the correct option
Measure E
Metric s

i r

Process
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C5605:Grand Quiz Quiz St

Question # 2 of 30 { Start time: 07:50:37 AM. 28 December 2020 )

Which staternent is correct?

Select the correct option
Coupling does not depend on interd ependenc% ponents

The greater the dependency be omponents the lesser is coupling

O

The lesser the cy between the components the greater is coupling

The greater the dependency between the components the greater is coupling

®
)
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CS605:Grand Quiz Quiz Start Time: 07-5(

Question # 3 of 30 { Start time: 07:51:05 AM. 28 December 2020 )

oo technique was initially developed for manufacturing processes in the 1920's by Walter Shewart.

Select the correct option

Upper Control Line e %

O

Contorl chart

b _d

CMP

Cluality
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2 C5605:Grand Quiz Quiz Start Time: 07-50 AM, 28 De 5
S 4
S Question # 4 of 30 { Start time: 07:57:36 AM. 28 December 2020 ) 1 1
2 Hardware [ Software tools, People and Reusable software components are considered as .. for an Organization. 5
S 4
S 4
S P4
S P4
S 4
2 Select the correct option 5
S Hesources 1
3 & ¢
S = 4
S 4
S Cluality Factars [
d 0O 4
S 4
S 2
2 Risky Factors 5
? O 4
$ 4
g Requirement Specifications 5:
Q O <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
QS <
QS <
QS <
QS <
QS <
> £
\ /
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=5605:Grand Quiz

Juestion # 5 of 30 { Start time: 07:51:55 AM. 28 December 2020 )

In , there is both vertical and horizontal communication.

b _d

select the correct option
Controlled decentralized (CD) e

Demaocratic decentralized (DD)

Controlled centrall
Synchronous paradigm (SP)
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C5605:Grand Quiz

Question # 6 of 30 { Start time: 07:52:07 AM. 28 December 2020 )
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Quiz Start

Reqguirements are sometimes fill with defects, normally known as

\Y

requirements.

Select the correct option

O

Functional requirements :

Mon-functicnal FE\ ents

Taxic requirement
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System requirements
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C5605:Grand Quiz Quiz Start

Question # 7 of 30 ( Start time: 07:52:22 AM. 28 December 2020 )

A process model defines a task set which comprises of SE work tasks, milestones and

Select the correct option
Work Breakdown Structure 6
Coding &
Deliverables
F
b d
Design
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CS605:Grand Quiz

Question # & of 30 { Start time: 07:52:39 AM. 28 December 2020 )

activity is performed throughout software production

Select the correct option i

Maintenance

Development

K

Analysis

Cluality Assurance
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CS605:Grand Quiz h

Question # 9 of 30 { Start time: 07:52:54 AM. 28 December 2020 )

The major activities related to software construction are

Select the correct option

requirement gathering, design development, coding and testing

s
)
installation and training 6

quality assurance, 1ﬁ$ﬂd planning

implementation and management
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CS605:Grand Quiz Cuiz Start Time: 07

Question # 10 of 30 ( Start time: 07:53:06 AM. 28 December 2020 )

Estimation of the ... is & prerequisite for all sorts of estimates, including, resources, time, and budget.

Select the correct option

Software Plan E %
Software Scope %

[

b _d

Software Product

Software Size
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CS5605:Grand Quiz

Question # 11 of 30 ( Start time: 07:53:26 AM. 28 December

Which of the following is not a software measure?

Select the comrect option
Mo. of defects

Defects per function point e %

Lines of Code

MoN on points
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C5605:Grand Quiz

Question # 12 of 30 ( Start time: 07:53:40 AM. 28 December 2020
Capability Maturity Model (CMM) has levels.

Select the comect option
4

S
| <

ol ’\,®0
K-\

O

b _d
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CS605:Grand Quiz Qi

Question # 13 of 30 ( Start time: 07:53:54 AM. 28 December 2020 )

is the ability to encourage people to create and feel creative.

Select the correct option i

Crganization

Maotivation

o &

Innovation

®
b d

Managerial ldentity
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C5605:Grand Quiz

Question # 14 of 30 ( Start time: 07:54:09 AM. 28 December 2020 )
model is a haphazard type of software development activity.

Select the comect option
Water fall E
Incrermental s%

Build and Fix
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C5605:Grand Quiz Quiz Start Time:

Question # 15 of 30 ( Start time: 07:54:25 AM. 28 December 2020 )

B s entity is the one which have any -—--—--— in the problem domain without some other entity.

Select the comect option
Strong, Role
N
b
All of the given s%i

Weak, Function

Mone of the Given
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C5605:Grand Quiz Quiz Start Time: (

Question # 16 of 30 ( Start time: 07:54:41 AM. 28 December 2020 )

The conceptual interface between the ‘internal application and the ‘external user world is known as——-

Select the correct option

Count Data Functions 6
Application Boundary §$
4

Development count

Control Information
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CS605:Grand Quiz Quiz Start Time: 07:50 AM. 28 December 2020

Question # 17 of 30 ( Start time: 07:54:55 AM, 28 December 2020 ) Total Marks: 1

Ewery project has a defined number of staff members. As time allocation occurs, the project manager must ensure that no more than the
allocated number of -—--—--— have been scheduled at any given time.

Select the correct option V
Task

People s%
Days a
R\

Components

ES
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CS605:Grand Quiz

Question # 18 of 30 ( Start time: 07:55:12 AM, 28 Decenr
SEl stands for

Select the correct option

Software Engineering Institute

O .

Software Electric Institute

Software Ele i titute
ﬁgineering Institute
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2 CS605:Grand Quiz Quiz Start Time: 07:50 AM. 28 December : 5
S 4
S Question # 19 of 30 ( Start time: 07:55:26 AM. 28 December 2020 ) Total Mar 1
2 WWe need to employ some statistical techniques and plot the results -—-—----—- . These are known as statistical control technigues. 5
S 4
S 4
S 4
S 4
z Select the correct option 5
S Graphically 1
S 2 NS g
z Autormatically 5
S o @ 2
S 2
S P4
) Manually 5
? O Q~\

be 4
Q <
) Perzonally (
Q <
Q © <
Q <
Q <
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Q <
Q <
> £
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CS605:Grand Quiz

Question # 20 of 30 ( Start time: 07:55:43 AM, 28 December 2020 )
Software Project Planning is an activity carried out by the

Select the correct option F : <‘ !

Heguirements Engineers
S0A team \m

Project Manager

b _d

Software Developer
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CS605:Grand Quiz

Question # 21 of 30 { Start time: 07:55:55 AM, 28 December 2
is an Object Oriented model.

Select the correct option ’ .9 a

5 Spiral @
5 WntQ@

Imcremental

Faountain
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CS605:Grand Quiz Quiz Start Time:

Question # 22 of 30 { Start time: 07:56:13 AM, 28 December 2020 )

. files @re the logical files that the customer understands and must be maintained by the system.

Select the correct option E
Haw
External &

Logical

O

O

Internal

b _d
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CS605:Grand Quiz Quiz Start Time: 07:50 AM. 28 December 202(

Question # 23 of 30 ( Start time: 07:56:28 AM. 28 December 2020 ) Total Marks:

In measuring Software Process Quality by using control charts, if the gap between the defects reported and defects fixed is increasing.
then it means

Select the correct option
The product is in unstable condition.
el

The product is ready for shipment

@) y

The product is in stable co

Mone of the above
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CSB05:Grand Quiz Quiz Start Time: 07:50/

Question # 24 of 30 ( Start ime: 07:56:43 AM, 28 December 2020 )

is fundamental for providing mechanisms for objective evaluation of any process or activity.

Select the correct option
Metrics
Measurament

F

e
Indicators
Pointers
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C5605:Grand Quiz Quiz Start Time:

Question # 25 of 30 ( Start time: 07:56:59 AM. 28 December 2020 )

lifecycle models appreciate the need for iteration within and between phases.

N

Select the correct option
Object-Oriented

N
ay

Spiral Model

0" Q

Extreme Programming

Rapid Application Development
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C5605:Grand Quiz Quiz Start Time: 07-50 AM. 28 Decembe

Question # 26 of 30 ( Start time: 07:57:13 AM. 28 December 2020 ) Total M

of a product can be measured if we can measure its non functional properties i.e. maintainability, integrity and usability etc.

Select the correct option
Cuality
%
=

Cuantity

O

Price

0D

Size
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C5605:Grand Quiz Cuiz

Question # 27 of 30 { Start time: 07:57-27 AM. 28 December 2020 )

dimension of Spiral model represents the cumulative cost to date

N

Select the correct option
Radial
&
b _d
Angular \x
Honzantal
Circular
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Question # 28 of 30 ( Start time: 07:57-40 AM. 28 December 2020 )
MOl model of leadership stands for

?&

Select the correct option
Maotivation . DperatimS’ ration
Mis g, Object, |deas
Motivation . Organization . Innovation
[
ko d
Miscommunication . Organization, Invention
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Question # 29 of 30 ( Start time: 07:57-55 AM. 28 December 2020 )

The important feature of extreme programming is the concept of

\Y

Select the correct option
Feedback :
Risk assess x

2

Pair programming

Requirement elicitation
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Question # 30 of 30 ( Start time: 07:58:12 AM. 28 December 2020 ) Total Ma [
If the gap between the defects reported and defects fixed is decreasing, then it means that the product 1s in condition. 5
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Select the correct option 5
Defective 1
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